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e T & feafafi e @ TRadAae s s g, S i T o oy wae
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ST, SOSETE 1 HOF GoeT qiieedl | ™ieAkie Haug [ahret see =i T S S0 39 19
Tod.  foami=n e T sl i =agRe sToaErE, FEraun Ao g8t 99 weed o fagans @
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12. OREdTERT WA AT AR 3T HRU HIVE ?
(1) ST Ty (2) o g e
(3) oawie QW e duedie 3 (4)  sreTET wEEd
13. TGS A G0 IREETa’ Hionet T ?
(1) WIS goit TS,
(2) T=F 9 GHYIRIG JUH YIRS STHe,
(3) HEETEIG gl
4) THR TR TIORIS AHSA.
14. INEEAR JadiHed THE SIS S I HIUM 2
(1) fafay Jeeei @ Jegq .
(2) EeEAHS Thae qragd |HY FHYE.
(3) FERAERT YgHiat §ad YR FEA THEd Hew aear.
(4) U4 fpar Hue ai=we I 9 3forEn TR Gt SURE!.
15. IREdEE] S 99 JvarEet F1 39 e ifes ?
(1) OREdaR e THeE Fe e,
(2 veEnfaE Ry Fer wfE.
(3) GERAEE Higd ¥4,
(4) wefeaTor WEs FHIE.
16. Choose the correct option to fill in the blank.
They decided to and try to be friends again.
(1) Bury the hatchet (2) Bury the sword
(3) Bury the gun (4) Bury the clarion call
17. Choose the most appropriate option from the following to complete the sentence :

She between cheerfulness and deep despair.
(1) Alternates (2) Alternately (3) Alters (4) Alternatively

FoA1 HFIIE TR / SPACE FOR ROUGH WORK
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18. He worked hard that he might pass the examination .
Choose the correct simple sentence form of the above sentence.
(1) He worked hard and passed the examination.
(2) He worked hard to pass the examination.
(3) He worked hard so that he could pass the examination.
(4) If you work hard you may pass the examination.
19. (a) Heis almost correct in his decision.
(b) The house is enough large to accommodate sizeable number of people.
(c) Each boy and each girl is busy with duty.
(d) Neither he nor his friend has prepared their lesson.
Identify the correct sentences.
(1) Only (a) and (b) (2) Only (a) and (c)
(3) Only (b) and () (4) Only (b) and (d)
20. Fill in the blank in the following sentences :
The book just in my hands.
My whole life had at the seams.
(1) came round, come round (2) came apart, come apart
(3) came into, come in (4) came by, came around
21. Identify the underlined clause in the following sentence :
Hamish asked me how I grow my carrots .
(1) Noun clause (2) Adjective clause
(3) Adverb clause (4) Relative clause
22.

Nobody is happy with him because he is a black sheep in the society.
Identify the correct meaning of the underlined word.
(1) a man with black complexion (2) avery poor man

(3) a man of bad character (4) a man of no importance

FAT FHRATS FRT / SPACE FOR ROUGH WORK PT.O.
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Choose the correct sentence/s :

(a) You mustn’t driving fast.

(b) You needn't drive fast.

(c) Don’t you have to go to the office at nine every day ?
Answer Options :

(1) (a)and (b) only (2) (b)only

(3) (b)and (o) only (4)  (2), (b) and (c)

24.

Match the pairs.

(a) First appearance in public (i) maiden
(b) A mournful song for the dead (i) highbrow
() One who exhibits about his superiority (i) debut
(d) First venture of a person (iv) dirge

(v) egotist

Answer Options :

@ (b (9 (@
1 @ @) v @
@ () (v) @ @
@ O W @H W
4) @ @) (v ()

25.

Choose the incorrect passive option/s of the following sentence :
He urged the Council to reduce the rates.

(a) The Council was urged to reduce the rates.

(b) The Council were urged to reduce the rates,

(c) He urged that the rates should be reduced.

(d) He urged the rates to reduced.

Answer Options :
1 @ (© 2 ()@@ (3) Only (d) 4

Only (a)

FoAT FMTATS AR / SPACE FOR ROUGH WORK
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Read the following passage carefully and answer Q.No’s 26 to 30 based on it.

Happy is the man who acquires the habit of reading when he is young. He has secured a life-long
source of pleasure, instruction and inspiration . So long as he has his beloved books, he need never feel
lonely. He always has a pleasant occupation of leisure moments, so that he need never feel bored. He is
the possessor of wealth more precious than gold. Ruskin calls books, “Kings’ Treasures”- treasuries
filled, not with gold and silver and precious stones, but with riches much more valuable than these -
knowledge, noble thoughts and high ideals. Poor indeed is the man who does not read, and empty is his
life.

The blessings which the reading habit confers on its possessor are many.

Provided we choose the right kind of books, reading gives the highest kind of pleasure. Some books
we read simply for pleasure and amusement - for example, good novels. And novels and books of
imagination must have their place in everybody’s reading. When we are tired, or the brain is weary with

serious study, it is a healthy recreation to lose ourselves in some absorbing story written by a master
hand.

But to read nothing but books of fiction is like eating nothing but cakes and sweetmeats. As we
need plain, wholesome food for the body, so we must have serious reading for the mind. And here we
can choose according to our taste. There are many noble books on history, biography, philosophy, religion,
travel, and science which we ought to read, and which will give us not only pleasure but an education.
And we can develop a taste for serious reading, so that in the end it will give us more solid pleasure than
even novels and books of fiction.

Nor should poetry be neglected, for the best poetry gives us noble thoughts and beautiful imaginings
clothed in lovely and musical language.

Books are the most faithful of friends. Our friends may change, or die; but our books are always
patiently waiting to talk to us. They are never cross, peevish, or unwilling to converse, as our friends
sometimes are. No wonder a reader becomes a “book-lover.”

26. The attitude of author towards the subject is most probably.

Choose the answer option :

(1) Repulsive (2)  Autocratic (3) Suggestive (4) Arrogant

27.  Which of the following statements are not true in the context of the passage :
{(a) Book lovers never feel lonely.
(b)  Only fiction books provide pleasure.
(c) Habit of reading provides pleasure, inspiration throughout one’s life.
(d) Serious reading is necessary for cultivation of mind.
(¢) Poetry is compared with cakes and sweetmeats.

Choose the correct alternative.

(1) (@), ®) (© @) (@) (@) (o) (3) ®),(d) 4 ®) (e

Tl HETS AN / SPACE FOR ROUGH WORK PT.O.
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28. According to the author, which of the following statements are correct ?
(a) Reading for only pleasure is desirable.
(b) Poetry should be neglected.
(c)  One can choose books according to his or her taste for serious reading.
(d) Reading habit is boon.
(e) Poor are those who do not read.
{f)  Books are always willing to converse with us.

Choose the correct alternatives :

1 @beE® @ G@eEH 6 b,k 6 ¢ (@@ b

29. Match the following :

(a) Right kind of books (i) Noble thoughts
(b) Poetry (i) Kings' Treasures
{¢) Ruskin (iii) Pleasure

{d) Books on history (iv) Education

Answer Options :

@ () (g @
O @ @@ @ )
(2 (v @ @) @
@) @) @ @ )
@ @) (@v) @) @

30. To read nothing but books of fiction is like
Choose the answer option :
(1) Eating plain, wholesome food
(2) Eating only cakes and sweetmeats
(3) Eating nothing but cakes and chocolates
(4) Eating nothing but cakes and fruits

F=01 T AR / SPACE FOR ROUGH WORK
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31, Fe 7H, YRArsAT 15 = Tudiared Jare I frum ve

(a) T FRESH TEFIS Tedl.

(b) T HAN WIS TG G .

Wf't‘-ﬂ‘ I
(1) %@ (a) TR (2) ¥aB (b) TN
() () T (b) I faur s (4) (a) T (b) I Foum 9%

Consider the following two statements about Droupadi Murmu, 15" President of India :
(@) She was a Governor of Jharkhand.

(b) She is a degree holder in Arts faculty.

Answer Options :

(1) Only (a) is right (2) Only (b) is right

(3) Both (a) and (b) are right (4) Neither (a) nor (b) is right

32, 3T 2022 T4, WRARrS foRdt i ¢ Sfiemm wiEr’ o= Svam AT e ?

(1) 04 (2) 06 (3 08 4 10
As of August 2022, how many languages in India were given the status of a ‘Classical language” ?
(1) 04 (2) 06 (3) 08 4 10

33. 2022 <1 At SFEHAE SUAE AT STeHiE R ASEE Wi 99 9 Fee heaer
JvaTa ST ?

(1) TIES (2) THA S MR
@) SSEE T (4) Tugsi =&

The 2022 Sahitya Academy - Bal Sahitya Puraskar (Children’s Literature Award) for Marathi was
awarded to which novel by Sangeeta Barve ?

(1) Ranfule (2) Gammat Zali Bhari
(3) Ujedacha Gaav (4) Piyuchi Vahi

Fe] FHRTE AR / SPACE FOR ROUGH WORK PT.O.
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34. et fGed 49 S 2022 U} ‘ {efivae SeEAERRT T 2022 = I FIUit e ?
(1) g Hh
() SAdwst
(3) TETRGSE A7 HEHE] W
(4) T
Who inaugurated the ‘Industrial Decarbonization Summit 2022” in New Delhi in June 2022 ?
(1) Minister of External Affairs
(2) Finance Minister
(3) Minister for Road Transport and Highways
(4) Minister for Home Affairs
35. WRATG TRl WAL WA (ISRO) Sisioan ' S¥Asifar - 1' & SWE THRId S+l Qe ?
(1) 12 3FTE 2021 (2) 19 ufee 2021
(3) 28 TgaRt 2021 (4) 21 HEART 2021
When did the Indian Space Research Organization (ISRO) launch the Brazillian ‘Amazonia - 1’
satellite into space ?
(1) 12 August 2021 (2) 19 April 2021
(3) 28 February 2021 (4) 21 February 2021
36. T S 2022 9 R NS Ffgen o6 e T St &' S sgue w97

(1) wHIE HEd (2) w9 FuA fueed
(3) dauYE Wz wer () frden faareA
Recently, in June 2022 who inaugurated the ‘National Museum of Customs and GST” in Goa ?

(1) Pramod Sawant {(2) S. Sreedharan Pillai
(3) Prime Minister Narendra Modi (4) Nirmala Sitharaman

FSA FHTETE JAFT / SPACE FOR ROUGH WORK
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37. THraiad a1 ufger aeet T e snfor swven 2w Aigae e ?

(1) sie - 2022 (2) sfaafdrEn - 2021

(3) el - 2022 (4) FN SRR FHEAER ~ 1970

When and in which country was the first human case of Monkeypox recorded ?

{1) Angola - 2022 (2) Ethiopia - 2021

(3) Namibia - 2022 {4) Democratic Republic of the Congo - 1970

38. TENl A WaHaE feq FHt 9w e s ?
1) 1 fed= (2) 4 feds (3) 5 feds @) 10 feg=
When is the International Volunteer Day observed every year ?
(1) 1, December (2) 4, December (3) 5, December (4) 10, December

39, wEIEA R faem (MTS) TRosyd fasfaa Fom afees U9 i R ?

(1) fo=r (2) TN (3) RN (4) SWHW
Which is the first state to develop Migration Tracking System (MTS) application ?
(1) Bibhar (2) Gujarat (3) Maharashtra (4) Uttar Pradesh

40. 34 2021H@memmmﬁwﬁﬁwﬂwﬁmmmm
w7

(1) HEHAH IR

) cfge = anfn Sigen fte

(3) i & sty e Rl

@) s

To whom is the Nobel Peace Prize in 2021 awarded for their efforts to safeguard freedom of
expression ?

(1) Abdulrazak Gurnah

(2) David Card and Joshua Angrist

(3) Maria Ressa and Dmitry Muratov
(4) Donald Trump

41. GOOIE! FU G IS GUROTEE! O Foe @ ?
(1) vU=un. fHudt wfimt (1986) (2) aRge Wi (1974)
(3) v |iFd (1990) (4) &S e |l (1998)
Which of the following Committee was not formed for election reforms ?

(1) LM. Singhvi Committee (1986) (2) Tarkunde Committee (1974)
(3) Goswami Committee (1990) (4) Indrajit Gupta Committee (1998)

F=A1 MR TN / SPACE FOR ROUGH WORK PT.O.
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42. ToUET FHTAT AL TR T He N Wit S frwaren deutd frofa Jvas sifren
eI ?
(1) SIS IO o S, SR
(2)  TEYER, FreEor sREien, favears el
(3) e 5 AreAfie e, it gfaam
4) <= oo, TSR, TeAAREEA
In the 11% schedule of the Constitution, Panchayati Raj institutions do not have powers to take
decisions regarding which of the following subjects ?
(1) Social forestry and Agro forestry, Small scale industries
(2) Village industry, Rural housing, Drinking water '
(3) Primary and Secondary schools, Technical Training
(4) Higher education, Telecommunications, State Transport
43. TERTS WeMTICHiferanT Afufm, 1949 TaR wuwRit qitda fFdt TREesR=n aee 318 ?
(1) 15 TREESH (2) 20 TREIH (3) 14 TREEH (4) 16 TRYTH
As per Maharashtra Municipal Corporations Act, 1949 the Standing Committee shall consist of :
(1) 15 councillors (2) 20 councillors (3) 14 councillors (4) 16 councillors
44. WIASUH! FHITA ARTIAIA S ST HI 377 ?

(1) TSI ST Sosedn THYl Hegor=l (81 10% Tmu=mde e

(2) =l =
(3) TR WO, S TR % e
(4) s wd

Which of the following is income source of Gram Panchayat ?

(1) Gram Panchayat gets 10% of the total revenue collected from the village
(2) House tax

(3) Gram Panchayat imposes tax on animals and professions etc.

(4) Al the above

FeAT HBIETE AT / SPACE FOR ROUGH WORK
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45. ¥ W@ € gl Wimen 2023 g RAS Haiew 3 e gen T H0wl Se I8
et ?

(1) ¥ & AR (2) > E A S
(3) M@ AT H AE (4) I A I A AER

Which institution emerged as the best higher education institution in India in the 2023 edition of
QS World University Ranking ? .

(1) IIT Madras (2) IT Bombay
(3) II5c Bengaluru (4) IIIT Bengalore

46. TWIHGUH! HIv T THA Sfaais w1 A ?
(a) ol WigareaEat fesu 39
(b) SRR Weiftd Tl el FEeAwi Hewl <0,
(c) TEHETEHRE Yol I HH HLL. |

(d) T FRIREEE A TN STEare <o,

gt E?ﬁ' :
(1) e (a) 3TV (b) (2) P (c) 3N (d)
(3) 4 (d) (4) = (c)

Which of the following is not a function of the Chief Secretary of State ?
(@) To exercise control over the whole Secretariat.

(b) To advise the Chief Minister on all matters related to administration.
(c) To act as a spokesperson of the State Government. _

(d) To report to Union Home Minister regarding affairs of the State.
Answer Options :

(1) Only a) and (b) (2) Only (0) and (d)

(3) Only (d) (4) Only (9

F=AT T AN / SPACE FOR ROUGH WORK PT.O.
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47. WOSIH! FUTH WA T @ 9N S R SieEs 9 ?
(1) o Q) oIS e I
(3) T M (4) <IE TEedA
Among the following who is known as ‘father of Local-Self Government’ in India ?
(1) Lord Ripon (2) Lal Bahadur Shastri
(3) Mahatma Gandhi (4) Lord Mountbatten
48. WOGUH! HIVG FE TG T T SIS GG TRUTSHAT St e 2
(1) 397 anfor "iqHg Fi=aHe QSIS §ae Sk <A1 feara &0 H
(2) 0 T, TG HET A gEEia g e
(3) snftde anfor armfse famramae Feiem '
(4) Tt
Which of the following functions is not among the functions of municipalities listed in the
12th schedule of the Constitution of India ?
(1) Safeguarding the interests of the weaker sections of society, including the handicapped and
mentally retarded
(2) Urban forestry, Protection of environment and promotion of ecological aspects
(3) Planning for Economic and Social Development
(4) None of these
49. 73 =t TEAIGEE! WEGYH! RV YRAE TSI S B 1T 2

(a) HEH (b) T
(c) Ta=irm @) fer=e TR
W‘[ﬁ 'Sﬂ"l‘ :

(1) (a) 30T (b) (2)  (c) ¥ (d) (3)  (a) 3 (o) (4)  (b) 3o (d)
737 Constitutional Amendment does not apply to which of the following Indian states ?
(a) Meghalaya {(b) Goa

{c) Mizoram (d) Himachal Pradesh

Answer Options :
(1) (a) and (b) (2) (9 and (d) (3) (a)and (o) (4) (b)and (d)

F=A1 FIAR AR / SPACE FOR ROUGH WORK
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50, U Afeen s fAfdR . woamE e

(1) YRAreA SEaumARe g

(2) saret EE Afargaren Foae

(3) R WL WA hore FE

4) YRGS TETd= SR

The National Commission for Women was created with
(1) an amendment in the Constitution of India

(2) a decision of the Union Cabinet of India

(3) an act passed by the Parliament of India
(4) an order of the President of India

51. TEGNF VET ARIFAEEH Sl fohdl o6 ?

(1) 786 eV (2) 136eV (3) OeV (4) 1MeV
How much is the ionisation energy of the Hydrogen atom ?
(1) 786 eV (2) 136 eV (3) OeV 4) 1MeV

52. WSIGUH! SV IS Wil TR @l SE T favese 8 S d Sosmmyd SRl Tedid ?
(1) WHNTE T (2) Zree iTie uowm
3) femml @) TEE Ted

Due to which of the following process white light get separated into its constituent colors when
passing through a prism ?

(1) Reflection of light (2) Total internal reflection
(3) Dispersion (4) Refraction of light
53. T S A fHetd, W HU Jeafed B, S @GR e =g A s en.
(1) Wl 29 afor =g 23 (2) W= 17 S =EE 2
(3) W 23 afor =g 1 (4) W 1A sy =1
In alpha decay, the unstable nucleus emits an alpha particle reducing its proton and neutron by :
(1) Zby2and Nby2 (2 ZbylandNby2
(3) Zby2andNbyl (4) ZbylandNbyl
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54, O] HIvedl SUEE <g2H o ?

(1) Zgefem (2) TS ) ferm (4) e
Which atom does not contain neutron ?
(1) Deuterium (2) Hydrogen (3) Tritium (4) Helium
55. NH, ¥ §q@ & 3790 NaCl & ¥ed g@umgd CO, Tefaen s = Thfed AT Tam.
(1) NaHCO, (2) Na,CO, (3) NH,CI (4) (NH,),CO,4
When CO, is passed into a concentrated solution of NaCl which is saturated with NH,, Crystals
of separate out.
(1) NaHCO, (2) Na,CO, (3) NH,C (4) (NH,),CO,

56. QOGS HI TZHME a0 qesd Tt ?

(1) BeCl, (2) PCl, (3) BQl, (4) whotH w&

Which of the following does not obey octet rule ?

(1) BeCl, (2) PCl, (3) Bd, (4) All of the above
57. aEEENE @A (digitalization) HTUITERT THET AT FIAT.

1 fEg (2 W (3) SIS (4) =G w

element is used for digitalization of forest area.

(1) Point (2) Line (3) Polygon (4) Aboveall
58. wifelS Aeah ™ Y TR,

(1) =¥ (2) HIUH (@) dEEa (4 fax

Short-range Network is called .

(1)  Bluetooth (2) Computer (3) Mobile {(4) Printer
59. WA AR SRS YEd et A,

(1) 1920 ) 1921 @) 1951 @ 1971

In India aerial photography startedin ____ year.

1y 1920 @ 1921 (3) 1951 @) 1971
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60. TOTIE THIEY WAIORERTO & Fftn Ee1 R STER %o WEe, 3 Yeaneal (owi-as
YIEe T SO (HIeHs Tresiied M Fuiafa &

1) fefoee fam=r (2) sAtEads fre faem
(3) frmms 4) TFemhae
The Authentication of the electronic record shall be effected by the use of and hash

function which envelop and transform the initial electronic record into another electronic record. .
(1) Digital Signature (2) Asymmetric Crypto System

(3) Cryptography (4) Crypto Function

61. TSI FNHa FOAE FHR .

(a) faomay smfor ok (b) S EEH (¢) WREER (d) WwRHH

it I
1) (2) 3 () (2)  (b) 3@ ()
(3)  (a), (b) 3 (c) (4) (d) vH

Malware can be classified as :

(@) Viruses and Worms (b) Trojan Horses (c) Spyware (d) Softcon
Answer Options :

(1) (a) and () @ (® and ()

(3) (@), ®)and (0 ) (d)only

FeeA1 FHTRIE AT / SPACE FOR ROUGH WORK P.T.0.
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62. HIUEH BEFIN e wmeomy T AiedeR AR
(1) %o (2) ot fawiy
(3) W 4) FIE
The software that controls computer hardware is
(1) Cable (2)  Operating System
(3) COBOL (4) Compiler
63. WS TR R AR gaEy g6l
(a) ST QTR (b) hElT FE HHAYR
() TE AfHH AR seArft T (d)  FIUIH YUy eFfuga waw e
Tt I
(1) (a) 3T (b) (2) (o) 3T (d)
@) (@) (b) = (d) (4 =lowd
Cyber Crime involves activities such as
(2) Child porography (b) Credit Card Fraud

() Defaming another person online (d) Gaining unauthorized access to computer Systems
Answer Options :

(1) (2) and (b) only (2) (c) and (d) only

{3) (a), (b) and (d) only (4) All of the above

64. TRNSMS GRE] Ydd TG EOous! vl ThRE I TEY e ?

1) el grew (2) TR e

(3) ORIl WEY (4) UIE U WE

Which kind of settlement pattern is found in Sahyadri ranges of Maharashtra ?
(1) Triangles pattern (2) Linear pattern

(3) Star pattern (4) Step pattern

~" el FTHIATS AT / SPACE FOR ROUGH WORK




65. WRAT=A AT Uit |EA TRt ang ?

Q16

L 7 2) 6 (3 8 4 9

India is having how many neighbouring countries ?

1 7 @ 6 3) 8 @ 9
66. Il STEWUGH! Sis! fRdl 3 ?

(1) 540 Tt ) 762 Tt (3) 900 fweft 4) 724 et

The total length of Tapi River is :

(1) 540 km ) 762 km (3) 900 km 4) 724 km
67. Terr=et oudier WiEh & URO1 v ST FLvad STt 3T ?

(1) waest (2) Wt @) o= (4) Toam

In Himachal Pradesh the Bhakra dam built on which river ?

(1) Sutlej ) Ravi (3) Chenab (4) Beas
68. Timn snfor el weien <=M ST T TR 3R,

(1) WeRd SR (2) WAHER- I3

(3) eReeg sEER (4) 9EYE

hill is situated between Bhima river and Godavari river.

(1) Mahadev hill (2) Satmala - Ajentha

(3) Harishchandra Balaghat (4) Satpuda

o] FFTEN SN / SPACE FOR ROUGH WORK
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69. 3t It iaET Yt FiS TOAM FHIOE TR Bl ?
(1) dHiefeF §EE () OO WER () sweofer TR (4) oW W
Which ocean was located between Angara and Gondawana land ?

(1) Pacific ocean  (2) Red sea (3) Atlantic ocean (4) Tethys sea

70. 2 e IO I e fowm IR,
(1) Fwgd (2) W (3) et (4) TEEBER
is a heavy rainfall place in south Konkan.

(1) Igatpuri (2) Matheran (3) Amboli (4) Mahabaleshwar

71. feoean dem vigdie arran fowml ol Hem e

l 1943 | 37| 26] 39 |

24| 6 |11 ]13

30 | 17 | 24 |
13]7

1) 18 (2) 6 (3) 16 @) 20

Find the number at the place of star, in given number pyramid.

1943 ] 37] 26]39 |
24 6 [11]13]
30 | 17 | 4

13 |7 |
XX

1) 18 ) 6 3) 16 4) 20
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72. WS e s T witen <vifad), S fafie guifad, ade i svifad snftn S8 weieme
THifadl; T EoeuS! I ST TESTIT T wiee ST ?

AN

2 8 3

7 16
15

10
/ 20 2&

1) 4 2) 18 @) 5 ) 3

In the following diagram, rectangle represents females, triangle represents educated, circle represents

rural and square represents self employed. Who among the following is uneducated self employed

rural female ?

2 18

AT
5

16

10 15

VERREN

1) 4 2) 18 @) 5 4 3
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73. WIS WA OF W erel. @ o famnef sraseen favarees miwd s soaaret 8 9

800 feremeafergs mfedt sTar ekt R TGt v avarom fercht e oA ?

fomm
11% T
f& 74 36%
e 8%
T 6%
? d
T3l ? el
28%

1 4 2y 32 (3) 1440 (4) 40

Pari got a project from her school. In which she has to collect the information regarding favourite

subjects of the students. She collected data from total 800 students. How many students like Marathi

subject ?

Science
1% Maths
Hindi 7% 36%
History 8%
Geography 6%
Marathi ? English
28%

(1) 4 2y 32 (3) 1440 (4) 40

74, oo arsad Tt @ A SRfcad 26 AR =1 FaX WY 29 SR 1 A AR, T A HIEe

foerraes otaad it g Trefeay 27 Hfme=n G0 Tig 30 SATe= A AR, W Tien e aefead
hiore feerelt 7w ?

(1) 26 AM= (2) 27 A= (3) 28 I (4) 30 AR

Vinay remembered that his mother’s birthday is after 26 August but before 29 August. While his
brother Vikas remembered that his mother’s birthday is after 27t August but before 30th August.
What is the birth date of their mother ?

(1) 26 August (2) 27 August (3) 28 August (4) 30 August
75. Wei fa=grem fowmmit A denean ofiezan -

FV]:HXD::_? :TWP

(1) BTW (2) DYV (3) NUR (4) JVF

Find out the proper term at the place of question mark.
FV]:HXD::__2 :TWP
(1) BTW (2) DYV (3) NUR 4y JVF

FoA1 FETAR] 90N / SPACE FOR ROUGH WORK
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v6. W9 Taersal Tl 4rg T o ¢

(3) 53 4) 01
Find out the number for question mark :
q’?f‘ﬁ%} nabi i f;% ‘ @‘é?
9 25 4
(3) 53 (4) 01

77.  Tiheedl AN 909 T W ¢

ONORO 0 @ 000
(1) 423 322 (3) 643 (4) 246
Find out the correct number for empty space :

}

423 322 643 4 246

78. W3 fagr=n Sl Yol g A ?

31,15, 6, ,1

n 7 2) 4 3 2 4) 1
Which number will replace question mark in the series ?

31, 15, 6, .1

L 7 2y 4 (3) 2 4) 1

FEA HETTS AN / SPACE FOR ROUGH WORK PT.O.
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F9. T8x2=4,8x4=2,16x8=2 T 40x5="?
i 1 2 (2) 8 (3) 20 (4) 10
If8x2=4,8x4=2,16x8=2then 40x5="7?
(1 2 (2 8 (3) 20 4 10

80. ehdie TRARIGT 20 WA T TH&N HUAI SN, w1 Thed Fedeh SRS 0T SAREIEt 5 0 e )
Ly gohoedl SateiEl 2 191 FHi B, TieTel o e FE 10 v SR Srefier o o @ fedt
5 T fyexite ?

1 20 @) 30 (3) 40 (4) 50

An examination of 20 questions is taken for Bank recruitment. 5 marks are awarded for the correct

answer and 2 marks are deducted for the wrong answer. Spandan has solved 10 questions correctly
in that examination, then what will be his score in examination ?

1 20 (2) 30 (3) 40 (4) 50

1. 3 FEAH TS50 IR, AT BF 22 AR, T ANS TeH GEAT FIVH ?

(1) 28 (2) 14 3y 05 (4) 30
If the sum of two number is 50 and their difference is 22, then the sraller number is ?
n (1) 28 (2) 14 (3) 05 4) 30

82. WHI 7™ A, B, C, D 3V E 3191 U9 HH{T Aed. M B, C =1 1S AR, 91 5 HKid TH WSy AR
E €1 790 3. A anfor D Asfioft smeq onfon it o @ A, 9 E = <! oy ?

- () B 2 C @ D 4 A
In a group there are five persons. A, B, C, D and E. B is the brother of C. In these five people there
is one couple. E is the husband. A and D are female friends and they are unmarried. Who is a wife
of 'E"?
1 B @ C 3 D 4 A

83, R WS UEAEE HifedN] HEAH 6 W0 W @ Aifsdde ‘P 4t e fedt sis?

X 2 4 6 10 P+5
- f 3 2 3 il 2
(1) 66 (2) 14 3) 07 4 03
If mean of the following data is 6. Then find out the value of I :
X 2 4 6 10 P45
f 3 2 3 1 2
1) 66 2) 14 3) 07 @) 03
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84. UHE Hiow gareA G TeEe geam F s § fadt =2, @ 90° =0 FRm SEiws T A1 T
12 foret =R 3nftr g1 90° = AR SSeiehe d@d i 8 TRt s, TR <t e Terge feadt
FHet T 3T s oren fedien sg ?
(1) 28 ferit gae ) 18 Tt SRS
(3) 20 foit domRe (4) 20 &t gdFe
In the morning Neelam starts to walk towards the Sun and walks 8 km. She turns left at 90° and
goes 12 km, and then again turns right at 90° and goes 8 km. How far and in which direction is she
from her starting point ?
(1) 28 km, East (2) 18 km, North-East
(3) 20 km, North-East (4) 20 km, East
85. 73 faeneff sradem oo wwt faane Fae fer uftn F Face s oy v, s faendf firr
st Aret - o, whar. SRR o v faenetsh den 31 oo | Few Al dwg
YRUTIT 9 el e areg Wb farameat<t den fipet ?
(1) 43921 ) 42321 () 423922 (4) 42920
In a class of 73 students, some students can play only Guitar & some can play only Flute. Eleven
students can play both Guitar & Flute. If the Number of students who can play Guitar is 31. Then
how many students can play only Flute & how many can only play Guitar ? 2
(1) 43 and 21 (2) 42and 21 (3) 42and 22 (4) 42and 20
86. Tl SIS Tl T,
X11,V13,517,0 23, .
(1) K25 @ 127 @y 131 (4) F3R
Find out the next missing term.
X11,V13,517,023, - . .
(1) K25 (2) 127 3 In 4y F32
87. el S vy TIeE Wi,
CX,FU,IR, ___ ,OL )
(1) LO 2 oM (3) MP 4y OO
Find out the missing term.
CX, FU, IR, , OL
(1) LO (2) oM (3) MP 4) 0O

F=S FEITATS AR / SPACE FOR ROUGH WORK PT.O.
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1 19 (2) 80 (3) 33 @) 116

Find out the missing number :

(H 19 (2) 80 3) 33 (4 116

89. T fyerEtd 10 9iEy, 16 TS M 14 F1S I AR, TR IRFEHI0 TF Fg TR HIEUIM A | TS
T el I et fond) vre—gar e 2
M X @ % ® 7 @ %o
A bag contains 10 white, 16 red and 14 black balls. A ball is drawn randomly from it, then the
probability of drawing a red or black ball is ?
m ¥ @ % ® 74 @) Y0

90. g nftrdg fomeran ST FE& EPe WHIF aiel &7

42]6[]51 =20

(1) + & — (2) x snfon - (3) - &fon + (4) + e x
Use proper mathematical signs to make the equation correct :

42[Je6[]51 =201

(1) +and — (2) xand — 3 -—and + 4 + and X

Fo] HIETE AT / SPACE FOR ROUGH WORK
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g frepd fraer - 3!
faur . ofRmeR A = yarg gER HE oS S
frepd: (o) ol anfor == € fomm Ta A Seo TR

b) SITER 7 SEEE TEU SHIVER] ZeEu-Fesvi A STee .
e I
(1) W (a) T Fre=pd g 7. (2)
(3) T (a) omf (b) Frepd A e (4)
Choose proper conclusion :
Statement : It is faster to travel by air from Aurangabad to Chennai.

Conclusion : (a) Aurangabad and Chennai are connected by air services.

(b) There is no other means of transportation between Aurangabad to Chennai.
Answer Options :
(1) Only conclusion (a) is implicit.  (2)
(3) Both (a) and (b) are implicit. (4)

X3

[

Fad (b) ® Frepd 4y ot
A (a) W (b) Frresped dma T

Only conclusion (b) is implicit.
Neither (a) or (b) are implicit.

92,

ot Firfe 3 i+t Hier oTR. Here w7 fate = ST e oM. SR e feiea Al R S
103 IR, W Fe fodt aui=n s ? 3
1) 20 (2) 34 3) 40 4) 43

Nitin is 3 year older than Sanjay, who is twice as old as Kiran. If the sum of total age of all three is
103, then how old is Nitin ?

(1) 20 @) 34 (3) 40 4) 43

93.

M Ao foemil oo Seuasemal U wd AHdie S € Aifgdl SR 9% 96 g0 SrEauad
S T Wed IRt Ao faeneatorst et siwmer S 99X RS ?

esd ot
arft
P mE | gEEd | 99 Reqt )
Taemedt Hemn 6 4 7 8 5 _
1y 6° (2) 30° 3y 72° (4 80°

The students are using following transportation for school and if this information is shown in a
Pie-chart then how many degree’s angle will be made for students who are coming by walking ?

Means for Walk C Cvel B A
transportation a ar yelke us uto
No. of Students 6 4 7 8 5
(1) 6° (2 30° 3) 72° (4) 80°
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94,

30 A
T srraet 4 s i
27,32, ,54,71,92
1y 37 2y 41 3y 51 4 52
Find out the missing number.
27, 32, , 54,71, 92
1y 37 2y 41 3y 51 4y 52

95.

TS T 16 T8 AR A it & m-aEie= THHM 1INl THSS R, SR % IS FE
S Swfor ST anfEt S 116 3R, oS 59 Ao JAen 3 ANl FH 38T W aEieE 99 fadl
AR?

(1) 56 99 6 g (2) 5199
(3) 48 =@ (4) 99 =H

A daughter is 16 years of age, who was born after one year of parent’s marriage. The sum of total
age of parents and their marriage is 116 years. Mother is 3 year younger than father, then what is
the age of father ?

(1} 56 years 6 months (2) 51 years

(3) 48 years (4) 99 years

96.

FI T I S Welerieh! IV Teawier qaitash feain T8dt qur=n qgran s ?

(1) wREs ) forr suftr SR wew

(3) farm (4) TR W

Majority districts of which state are affected by the floods due to change in the course of river
Kosi ?

(1) Jharkhand (2) Bihar and Uttar Pradesh

(3) Bihar (4) Uttar Pradesh

FH=A1 FHTEIS AFT / SPACE FOR ROUGH WORK
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97. SCAERING SN A T THE G,
(1) 0.00006 (2) 0.00005 (3) 0.00007 (4) 0.000006
In the atmosphere ozone gas is found in percent.
(1)  0.00006 (2) 0.00005 (3)  0.00007 (4) 0.000006
98. f& arafffa st o
1 T (2) EET () T=D (4) Slenfies e

is a manmade hazard.

(1) Floods (2) Landslide (3} Famine (4) Industrial accident

99, WIHBIH! FHU Haraiasa e T ?
(1) wfeEw e @ T feren
(3) 3igHA FaelEr s (4) TEwE
Which of the following is not a biodiversity hotspots ?

(1} Western Ghat (2) Eastern Himalaya

(3) Andaman - Nicobar Islands (4) Eastern Ghat

100. AR TRER Fafawwr fawas qfed smfoer 9w 5 S 1972 Ui 0w 780 S99 o) 2
(1) wiFdm (2) “gIE (@) & (4) ey

In which of the following city the first “International Environmental Conference” was held on
5th June 1972 ?

(1) Stockholm (2) New York (3) London (4) Birmingham

-00o0-
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T - F2 1 == R....)

®) vegiaene fufea e fafire wrfe = & (6 o%) 3. v yRaseafaliEa sorufeat ar st
HITETAY Fe B9 Heard o A HLUATT ILIH &S 1%, SR HIS WRe 9 WIE SHIAET STEA S
Fora ol S YT yfiey SeaEEay AfteE-82" Uiie aXgiIgETt HRET HE 56
7 I A B UH TN HRIETEIEAT ST/ fhar $08 uh T {@Hem dete fige as 2.

(9) HIT WyTUBEIS A Rk Y A3 HURIHAT IS & YIRS WA iEt TOSEEER U
TGRS T ST, W TR A SHEaRH Al SRR HR—1 T 7 e T FO e

X
LGl AR
9. F. 201. HOT 9 T HIOGIEIS! HIU qoa: WA bl
(1) @ TEFe g (2) SeEs femmET
(3) TN TEEET g @  TiYTEEST T,

q. &. 201.

TR 9 FAT (3) TS TR T O o, T 1 W T C(3)7 Ao, AT QARSI
W . 201 GRS SA-FAi® <(3)” ¥ AGB TG Brifed B @i ST SHE.

ONON MO

I TEA TS TTGRABATS Felidh F9TaT AT Sa{-Hidh & JReIN TisTIedl JRiiondl Sl
T T ITRIETE S e age quie smiftd $67 araamr. i w Hea e SR I,
Ifae T T ¥ s W
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